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Im im
3m 3m

100kN/ 100kN/

kN/Z Y| m) &Nz )L m) | (kn/ m &N ) (m) kN/Z Y m) &Nz )l m) kN YL m) [N o) (m)
1 2 1359 1.0 100.0 1.0 - - 12.81 24
2 3 136.4 1.0 100.0 1.0 - - 12.81 24
3 4 147.8 1.0 100.0 1.0 - - 15.19 2.8
4 5 164.6 1.0 100.0 1.0 - - 15.96 3.0
5 6 1709 1.0 100.0 1.0 - - 16.05 3.0
6 7 - - 100.0 1.0 24.14 45 16.05 3.0
I 8 - - 98.9 1.0 29.86 5.6 16.05 3.0
8 9 - - 72.1 1.0 29.86 5.6 16.05 3.0
9 10 - - 100.0 1.0 26.49 4.9 16.05 3.0
10 11 1431 1.0 100.0 1.0 23.16 4.3 16.05 3.0
11 12 1431 1.0 100.0 1.0 20.71 39 16.05 3.0
12 13 158.1 1.0 100.0 1.0 - - 16.05 3.0
13 14 158.1 1.0 100.0 1.0 - - 15.44 29
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Im im
3m 3m
100kN/ 100kN/
(KN/ m (&N ) m) | (kN7 m) | (kn/ (m) kN/Z Y m) &Nz )l m) kN YL m) [N o) (m)
1 2 - - - - - - - -
2 3 - - - - - - - -
3 4 - - - - - - - -
4 5 - - - - - - - -
5 6 - - - - - - - -
6 7 - - - - - - - -
7 8 - - - - - - - -
8 9 - - - - - - - -
9 10 - - - - - - - -
10 11 - - - - - - - -
1 12 - - 976 | 1.0 - - 848 | 16
12 13 - - 976 | 1.0 - - 848 | 16
13 14 - - 97.6 1.0 - - 8.48 16
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